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Q. T&AT 12,24 3T 36
LCM 3T HCF = €=
FAL ST e ?

Q. Find the difference
between the LCM and

HCF of numbers 12.24

Eando86 ?
(b) 72

(c) 84
(d) 62
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Q. 39 "@E&ATA F HCF 3fi¥
LCM = &= T SIqTa &1
g TorT LCM 48 ¢ 3l

HEITAT T [UTAERT 384 7
Q. What is the ratio
between the HCF and
LCM of the numbers

ANl

tBe brdduct of the
(RiMbePs is 384 ?

(c)1:3
(d) 2: 5
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Q. 3T AT F HgaH THTIAdH
(HCF) 3T a® gHq1Ia<d (LCM) =T
TR 3 3 A 592 3w 518
gl Tte U gegr 111 8, ar Tt |9edT
g

Q. The sum and difference of the

greatest common factor (HCF) and
least common common factor

(LC mbers-are-592 and

918 re é(,stﬁlely If one number is

111, thiehthe other number will be:
(c) 592

(d) 37
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Q. Ite 919 T35 F==1: 71 T.9.97.
120 g a1 Reieriad & | S| 3941

q.9.9. 981 &l Tahar?
Q. If the LCM of three odd

numbers IS 120, then which of the
following ca e/ﬁheir HCF?
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Q. T G&ITAT T .9.9. ?Fl%ﬁqiﬂrtr
T 12 AT & TAT F.9.9. 3L .9.9.
e eﬂu 403 g\ TT< 399 | U &
03 7, @& T H&AT gtl-

Q. The LCM of two numbers is
12 times of their HCF and the
sum of their LCM and HCF is
403 If one of them is 93 _then the
AhdRAumbekill 8-  (c) 134
(d) 138
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Q. 0.36, 1.2, 4.8 &7 @ H qWYay | €

z-
Q. The least common factor of
0.36, 1.2, 4.8 is- (a) 57.6
\; ;;’*_'—:.ﬂ \ (b) 38.2
\ (c) 14.4
(d) =1

"zi/None
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Q. 3T G&ATSAT T AT 3:4 7 A AT

HEqH GHTIad S 15 g1 al S| eI
T AT FAT ZIT?

Q. The ratio of two numbers is 3:4
and their HCF 1S 15. Then the sum of
the two numbe{s |

2 > (a) 105

(c) 120
(d) 110
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Q. 3T 98-3T4

ST HEATAT (@ 3T b) T T

FHTIA % T2

2 T?

Q. The LCM of two co-primes (a and b) is:

(a) a-b
(b) a+b
(c) a/b
(d) ab
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Q. = TS GEATAT o T[T H

FaTIacd (LCM) 3T ggaH

qaTIade (HCF) T J[UE% 72
g 3T = =73l | 6 =7 3(a< gl
FEATAT T TINT AT T2

Q. The product of the LCM
and HCF of two positive

numbers is 72 and the
difference- hesg

Rifbers is 6 . The s(mw [
{f Himbers is: (d) 24
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Q. T FEATAT T AqATT 3:5 B T ITHRT >C
TLTH Tacd (LCM) 300 g1 BT
HETT &
Q. The ratio of two numbers is 3: 5
and theirleast common factor (CCM)_
Is 300. Small n (a) 75
( {or (b) 60
(c) 90
(d) 45
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Q. T AT FT T R Ta<d (LCM) 520%’
3T ITHRT HgOH GHTIA A (HCF) 4 g\ T =49

H U G&qT 52 31, a1 g8 9847 8:

Q. The least common common factor (LCM)

of two numbers is 520 and their greatest

common factor (HCF) is 4. If one of these
numbers is 52, then the Q§>her number is:

(a) 40
(b) 42
(c) 50
(d) 52
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Q. T =470 2:3:5 % S qaTd | ¢
3 IAHRT TLTH gHTIad 90 2

39HT H.9.9 T HI o0
Q. Three numbers are in the ratio

of 2:3:5 and their LCM is 90 .

Find their H<§ >
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(a) 9
(b) 1
(C) 6
(d) 3
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Q. T fa-fa= gt # f9=-f9
HTAATSAT o 34 3T A o 707 2, foreh]
AT 403 F(1ex, 434 =12 3T 465 HlaT
gl TS-H-TET ATT (e ®) T g
AU orae T4t f9a-f9= 7rstt
QUICAT HTYT ST Heh 7

Q. There are different quantities of

milk and water in three different
vessels whose measurements are

4031tres; 434 Hters-and465-Htres——
Wﬁé&'!should tf@}r%1larqest c) 70

e lirement (in litres) so that all
the different quantities can be
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Q. [(4x2-8X), (x*-4x2 ), (2x°-2x*-4x3)] T >¢
qH.9. 778 ?
Q. Find the HCF of [(4x2-8x), (x*-4x?),
(2x°-2x4-4x3)]. (a) x(X
bsy
N (b) x (x2-
4)
(C) X(x-2)
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Q. =T gATcHS AT T ATITT 7 : 9 g TAT
3T 1.9.9. 819 g = AT T&dT H | el
T AT it ?

Q. The ratio of two positive numbers is 7 :
9 and their LCM is 819. Find the smaller

number out of these two numbers 73) 113
o ) (b) 97

' | (c) 117

(d) 91







